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Solution: We prove: Lemma: 
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Adding we deduce the conclusion.Equality holds if and only if the triangle is equilateral. 
Remark: In the same way: 
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Proof: We use the algebraic inequality: 
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Application in triangle. 
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Equality holds if and only if the triangle is equilateral. 
Remark: The inequality can be strengthened. 
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Equality holds if and only if the triangle is equilateral. Remark: In the same way: 
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Let’s get back to the main problem. Using the Lemma and the means inequality we obtain: 
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Equality holds if and only if the triangle is equilateral. 
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